NIPA 1 C:n varaosia

Koodi H:

P22011 406/506 tulppa
SB1802 kansi
- R22085 kannen tiiviste
R35350 saksisokka d 4x30 A2
SB404  prikka
R22087 nokan tiiviste
R30716 kuusioruuvi M8x45 A2
SR102 nokka
SB206——letkuliittimen-ruuvi-
SB105 letkuliitin
R30714 kuusioruuvi M8x40 A2
P37165 mutteri M8 A2
SB1804 Jjaluslaippa
SC106 muhvi 47,8x1/8"
M2222 nousuputki 1l,om
SC104 muhvi 57/47,8x1/8"
SC102 sylinteriputki
S0203B pohjaventtiilin l&ppavasti
R22229 1&ppd
SC201 léppépesdn runko
- R30720 kuusioruuvi M8x50 A2
SC106 F22104 903 akselin tiiviste
' | ' P9204 920 tiivistelaippa
P30705 kuusioruuvi M8x20 A2

I L2102 R22251 919/4/5 kidensiia

SC101  pumpun runko

q = ' SC103  perusvarsi
4222 ‘ 12102 minndnvarsi 1,0 m
11102 mé&ménvarsi 0,5 m
SC105 mdnndn muhvi
' S0303 mannédn tiiviste

S0302B manta

L1102
SC104 %% !
E SC 105
R22229
Sc102 G~ R22229.
' = $0303 R 2226 2

! % l]\ S03028

I /

502038 L
R22229 -

I
SC201




